RZFREE

(1£&£H) H—ERIEE: MBRETIH—ER
BEFRL:TUHN
(Efz: M)
118 12H 1H 28 3H 4 A 58 6 A 7H 8H 9A 10H &5t

FIAERAH 3 A 4 N 5 A 7 A 9 A 9 A 10 A 10 A 10 A 10 A 10 A 10 A
l}% gizﬂiﬁgﬁ 16.0 16.0 16.0 16.0 16.0 16.0 16.0 16.0 16.0 18.6 16.0 16.0 194.6
i LRk 0.0 0.0 48.0 64.0 80.0 112.0 144.0 144.0 160.0 160.0 160.0 186.0 1,258.0
HEHA) 0.0 0.0 48.0 64.0 80.0 112.0 144.0 144.0 160.0 160.0 160.0 186.0 1,258.0
AGE 97.5 97.5 97.5 97.5 97.5 97.5 97.5 97.5 117.5 97.5 97.5 97.5 1,190.0
kE. XBE 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 36.0
% | ERRERE 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 86.4
% BIEE 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 20 20 24.0
A |ERE 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 156.0
T ITEFE 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 72.0
=(=)) 128.7 128.7 128.7 128.7 128.7 128.7 128.7 128.7 148.7 128.7 128.7 128.7 1,564.4
FEEA—B) -128.7 -128.7 -80.7 —64.7 —-48.7 -16.7 15.3 15.3 11.3 31.3 31.3 57.3 -306.4
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X AEHFAEGAHLYD) DERFRVERBM (S—EXE) +ETOMEITONVTERHT S, )

HAEM(604)+&0MNE (54) x 2+{2it EFBEREEMEN (6) =718
7,180 x (MLBEREME I (84%)+EHTLNEBHREME I (1.3%)+N—R7VvTEXIEME (20%) =840
7, 180+840=8, 020 (1&H1=Y1 B FFHDIKEN)

KB (721)HEWNE (54) x 2+ EFBEERESMENL (6) =835 835 x g% (10.00) =8, 350
8, 350 x (MLBHEME I (84%)+EHTLEBHREME I (1.3%)+N—R7YvTEXIEME (20%) =976
8, 350+976=9, 326M (1& & 71-Y1 B FI A DIREN)

718 x g in&E (10.00) =7, 180
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FIFE RAL 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A 10 A
l}% gizﬂl}ﬁgﬁ 16.0 16.0 16.0 16.0 16.0 16.0 16.0 16.0 16.0 18.6 16.0 16.0 194.6
i Lk 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 186.0 1,946.0
BitA) 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 160.0 186.0 1,946.0
A& 97.5 117.5 97.5 97.5 97.5 97.5 975 975 117.5 975 97.5 97.5 1,210.0
kE. XBE 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0 36.0
% | ERRERE 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2 86.4
E BIEE 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 20 24.0
A |ERE 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 13.0 156.0
T ITEFE 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 72.0
&EB) 128.7 148.7 128.7 128.7 128.7 128.7 128.7 128.7 148.7 128.7 128.7 128.7 1,584.4
FIIZ(A—B) 31.3 11.3 31.3 31.3 31.3 31.3 31.3 31.3 11.3 313 31.3 57.3 361.6
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HAEM(604)+&0MNE (54) x 2+{2it EFBEREEMEN (6) =718
7,180 x (MLBEREME I (84%)+EHTLNEBHREME I (1.3%)+N—R7VvTEXIEME (20%) =840
7, 180+840=8, 020 (1&H1=Y1 B FFHDIKEN)

KB (721)HEWNE (54) x 2+ EFBEERESMENL (6) =835 835 x g% (10.00) =8, 350
8, 350 x (MLBHEME I (84%)+EHTLEBHREME I (1.3%)+N—R7YvTEXIEME (20%) =976
8, 350+976=9, 326M (1& & 71-Y1 B FI A DIREN)

718 x g in&E (10.00) =7, 180




